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Flow section of the orifice (m2); 

Average outlet flow of the dry retention system to 
discharge the runoff volume to be treated (m3/s); 
Discharge coefficient of the orifice minimum value: 0.60; 
Gravitational acceleration (m/s2); 
Vertical distance between the centre of the orifice and the 
aveirage water level upstream of the orifice; the average 
level corresponds to the average between the maximum 
level and the level of the centre of the orifice; 

= Vertical distance between the centre of the orifice and the 
water level downstream of the orifice (m); if the 
downstream side of the orifice is not submerged and is 
free-flowing, then H2 = O. 

106. The route followed by the water in the dry retention system by at least 80%
of the runoff volume to be treated must have a minimum ratio of the width over the
length of the flow path of 3 to 1, or a minimum ratio of the flow path over the length
of the work of 3 to 1 .

A flow path is the route followed by the water between an intake in a storm 
water management work and the outlet of the work. 

107. The ratio of the lengths of the shortest flow path and the longest flow path
must be at least 0.7, except if less than 20% of the surfaces drained to the dry
retention system drain through the shortest flow path.

108. If a low volume flow channel is installed at the bottom of the basin, it must
not be covered with concrete or asphalt.

109. The volume for the accumulation of sediments provided for in the water and
sediment accumulation zone must correspond to at least the smaller of the
following values, irrespective of the volumes calculated for the pretreatment cell
and the microbasin, where applicable:

(1) 20% of the runoff volume to be treated;

(2) the volume established using equation 4-8.

1 Equation 4-8: VMES = Msed. X N X Aimp X P/100 

where: 

VMEs = Reserve volume for the accumulation of sediments (m3 ); 

Msed. = Volume of sediments produced per year per hectare 
(m3/year/ha): minimum value: 0.68; 

N = Expected number of years of operation without 
maintenance (year); minimum value: 5; 




